PART -1
(1) GENERAL ENGLISH / W= 3t

Choose the word most nearly

ik Directions :
OPPOSITE in meaning to the given word :
FACT .
(1)  Fiction .[‘ZZI [magination
(3) Realty 4y Lae

Directions (2) and (3) : Complete the following
sentences by using the correct form of the verb with
the help of options that follow :

2.  The Headmaster to speak to you.

(1) 1swanting

(2) waswanting

(3) were wanting

(4). wants
3. He for five hours.
(1)

(2)  must had been sleeping

has been sleeping

(3) was sleeping
(4)  hadslept

Directions (4) and (5) : In each of the following
sentences improve the underlined part with the help
of given options :

4, I'shall have much pleasure in accepting your

kind invitation to dinner.

(1) Can't have much pleasure
(2)  Iam having much pleasure
(3) Imay have much pleasure

(4), I'have much pleasure

5. No sooner did the police arrived than
robbers made good their escape.

the

(1) Nosoconer when the police arrived
(2)  Nosooner did the police arrive
(3)s
) »

No sooner the police arrived
No sooner had the police arrived

6. Directions : The idiom given below 18 followed
by four possible meanings. Choose the correct

option :

By fits and starts

(1)  wrregularly (2)  successfully
(3)  incompletely (4) suddenly

14 Directions : In the following sentence, out of
the given alternatives choose the one which best
expresses the meaning of the underlined word :

His performance in the office is quite superficial.
(1) excellent (2) shallow
(3)  excessive (4d)  unnatural

8. Directions : In the following sentence, one
part may have an error. Choose the one which
has the error, if any :

It 18 high time/ that we send /

(1) @
the answer/to this query.
(3) [4;

r
Directions (9) and (10) : In the following items a .
word is followed by four explanatory expressions.
Choose the expression which best describes the
word :

9.  ORTHODOX _ (i)
(1)  onewho flonts established opinions
2 mewhhﬁmummunaofm’um‘
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PART -11 / ¥m-11 .
WLEDGE AND CURRENT AFFAIRS / | [ S WA geAd

1) GEN. KNO | :
il.j When was Goods and Services Tax (GST) | 21. =™ it =1 1 (GST) wra # Fa T fn
introduced in India? Y
(1) February, 2017 (1) @&l 2017
*j-" j‘”y' i ki @), e, 2017
A 2 (4) S, 2017
22, Which of the following gates in the defence wall .
of Delhi was identified by Ibn-Battuta as the | 22, faeel &1 guan wreit & A 5 | A1 F&-Fqdl
greatest ? % g Had I STar Far T 7
(1) Guldarwaza (1) ga' HCIE
(2) Budaundarwaza © ﬂﬁm
S o T
N arwaza
(4) andwi @
23.  Which of the following is the first State in India 5
that has made roof top rainwater harvesting | 23. ¥1@ H 9% FH-H T4 T lg'f' Hﬁfﬂ‘lﬂ T %
structure compulsory to all the houses across [yt T 1 T W aueE g944d &1 A F
the State ? o el 5 e 2
(1) Punjab @)
(2) Tamil Nadu @ afrerrz
L1
(3) Kerala
3 F
(4) Maharashtra _
4) HEAE
24. The Chipko movement is associated with which
of the following states ? 24.
(1) Uttarakhand
(2) Chhattisgarh
-(3) Madhya Pradesh
(4)  Jharkhand
25. Who is the founder of Grameen Bank of
Bangladesh ?
(1) Mohammed Yunus
(2) Mohammed Talib
(3) S.R.Hashim
(49  Mahabub-ul-Hag




96, Who was awarded with Jnanpith award,
20177

(1) Shiv Mehta

(2) Knshna Sobti

(3) Ramesh Kuntal Megh
(4)  Jayantha Mahatab Bora

27.  Which one of the following rivers flows across
China, India and Bangladesh?

(1) Indus

(2) Ganga

(3) ChangdJiang
(4) Brahmaputra

28,  Which one of the fo]luwmg is not the form of

precipitation ?

(1) Sleet

(2) Hail

(3)  Absolute hu.r:m.lﬂltyL

{4/  Rainfall = ::’ el

e
i

2. Dipa Karmakar won ﬂ_,@ﬁfﬁ‘!ﬁ;ﬂ in
Gymnastics World Ch: e at, Mersiw,
Turkey on July 8, 2018. In which e
she win ? 1_{‘ ’

(1)  barevent

2)  vaultevent

Tl

96, 20177 FrtE e e fH T2

(y fmaEm
p '!{2]{ Wﬁlﬂ?ﬁ
(3) 9 Fad 7Y

(4) A e 9

S U 0 0 S
AT T T?

(y fay

) Tm

(3 =m famm
), SR

28, frefafEs 4 4 ®F-T s@aIm @ 999 F1 #9
T E?
1 wfetrghe
2) =
(9 Fe




= . - - E 31_

31. A solid brick of Gold measurin : . e
18 cm x 48 cm X 16 cm is melted ar_ld converted %1 €2 = fysenes == &1 ATFH(d % fafdd
into a cubical shape. An edge of this new shape T 1 3 A4 Arpfd &l uh (uH) e f:]i
is equal to : TEE ?

(1) 24cm (2) 12cm W, 243 @ 12 |
G AR @ =hatel 3 18 FA. (9 489HL
. 3 fexor =1

32. A man is standing near a clockl ta':vn:r. He | 30 SR =fmu=m s ﬁilid @g; 1 HE'E'FH'“T !
moves southwards to reach a point ‘P, 8 km S fag P T TES = fF T2 T 3
o e temaapoint @ Fron'@ | 81 v g P 2 7 e 6 el
then moves oreac : _ LEwn = i
he moves to right again and reaches a point =T © 3R fag ‘Q ™ 'q'g?‘d‘[ 7| fag Q '.5{ ag
‘R’, 10 km from ‘Q". From ‘R’ he turns right W@WWR mq@a‘ﬂ]%'&ﬁﬁiﬁg QH
el b L Gy 10T g ¥ 1 fig ‘R | 72 < GOH TH S W
and m'? which direction, he 1s T e s Qﬂ i
tower qg =l £l

; et fom fan & €72
() 2km South (2) 2km North =W H ) ARINES feem

; h 1) 2 o efem @, 2f@d I
(3) 18 km South (4) 4 km Sout X
@) 18 ferrt e @ 4 fot =fao
33. Out the following given four words, one is e :
different from the other three. Select the odd | 33. = fe@m R ¥eR] H U v o A B i g
one : 39 famm ez &l ﬁﬁﬁi :
(1)  White (20 Red (1), WH @ =
3) Yellow (4) Blue @) dem @  Hren
: T TS T S R e o

34.  Inderisa man and Sahej is a woman. Sahej's .. TR Wﬁ =133
mother 1s daughter of Inder’'s mother’s sister. 3T | |l Sl e | TS & =AY
How is Sahe;j related to Inder ? FHEAY & 7
(1) Sister (2)  Niece 1 =& 2 WSt
(3) Grand-daughter (4) Daughter (3), /AR @ ==&
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PART - I1 / 9T -11
(2) REASONING ABILITY | Tfehen Graar

|1
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SPACE FOR ROUGH WORK / T @74 o fo7t wr1e




I I1

There 1s some relationship among the above
two figures. Out of the following figures select
the set of figures that have a relationship similar
to that in the above figures :

[ ]
() (]
[ ]
1 I1
@
b
(2) ' ®
| 11
| [ ]
T 4
I Il
[ ]
)
L ]
I I

3. Observe the following words carefully :
hopeful, helpful, healthy, healing, heating.

If we arrange these words in dictionary Drde;,
which one of these will be at the third place ’

35.

36.

[ ]
L ]
I 11
s @ Ffdl 4 $9 Ay g1 frAfafted
a@ﬁﬁﬁﬁwmuﬂaﬂﬁrgﬁﬂﬁw
Hﬁ'ﬂﬁﬂ%ﬁﬂﬂaﬁ Sﬂ?ﬁﬁffaﬂ?
(1)
L ]
I II
[ ]
2 o
I 11
(3) :
I II
@) -
[ ]
I 11
ﬁmﬁlﬁamm‘;mﬁm:

hopeful, helpful, healthy, healing, heating,
A IR B T=HY F 7y afem i

;ﬂa?ﬁﬁ%mﬁﬁﬁq-mmmmm

(1) heating @  helpful (;l/ heating (2)  helpful
®)  healthy (1) healing O ealdy @  healing
1847 SPACE FOR ROUGHWORK /7% &4 % fora wme —
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37. A
37. A —
= Cl E
—
z Z
= R A=
|P D|| = ﬁ
E B -
H ! L . 5
Which one of the following is mirror image of fefafea § 9 &1 3 Jg i 3 2 o b
the above figure when mirror is placed along et gdv F1 TE AB W & T € 7
the hine AB? D
3 d)
e
(2) a |p {11/ @
-E O
. T
o Sl | 08 8 WAL ST a1t ot =7 1 Wit ysnadi =1 e
38, A cube of side 8 cm 1s painted red on all the : : 5 =
sides. It is then cut into smaller cubes, each of mﬁgéﬁ%W%lm w zﬂtﬁ Sl Sl
side 2 cm. How many of these smaller cubes awt Sl A H T T R 04 e
have one or more sides painted red ? BIE-BIE T i U 71 3faren Y137 =l ey T
(1 32 (2 48 TN T 77
(3) 56 (4) 24 (y 32 @) 48
, | s @) 56 @ 24
39. In a certain code language ‘PRINCESS is - .
written as ‘ECINRPTU’. How will you write | 39.  Torelt 52 v 'PRINCESS’ = ‘ECINRPTU
‘SPICEJET in the same code language ? foman s &) TH uTer
: H %< SPICEJET =
(1) EJICSPFV (2) JECIPSGU mmmm;
(3) JEICPSGV (4)  JEICPSFV (1) EJICSPFV ;
(3)  JEICPSGV 8~ JECIPSGU
40. What is related to the numbers ‘3, 4, 5' in the . (4) JEICPSFV
same way as numbers ‘1, 2, 3’ are related to | 40. TEHH| ‘3,4, 5“@@%&@@ :
1.4, 99 ‘1, 2, 3 % HE . qeEns
. T 1# 4| 9 % %I
(1), 3 16,25 (2) 916,25 1 3 16,25 ) 5.5
(3) 3,611 (4) 3,825 @ 3611 @M 85_-225
A-8 ——
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41.

PART -11 / ur-11
(3) COMPUTER LITERACY / Sh¥et |igidt

Thesaurus tool in MS-Word is used for -
(0 Spelling suggestions

(2) Synonyms and Antonyms words
(3) Correcting sentences

(4) Grammar options

42.  What is common between the following 7
Facebook, Twitter, Instagram, Pintrest
(1)  All are accessible from dark web.
(2} All are social networking sites.
(3 All are news websites,
(4y  All are banned websites.
43, Aruficial intelligence 1s the science and
engineering for :
() makingintelligent machines.
(b) making computers think like humans.
Which of the following is the correct option ?
(1)  Only(b)
(2)  Both(a)and (b)
(3)  Meither (a) nor (b)
(4} Only (a)
4. Which of the following font effect is not
available in MS-PowerPoint Font dialog box ?
(1)  Shadow
(2)  Strike Through
(3)  Underline
(4)  Emboss
15. and are the smaliest and
largest font size available in Font Size tool on
formatting toolbar in MS-Office.
()  8and72 2) 12and64
3 12and72 (4) Band64
18AY

41.

42.

43.

44.

45.

o, 7€ 4 fysiE 3o F1 37 e fo
e =T € 2

() = gEE

(2L maﬁﬁmﬁaﬁqm

@ @A gur

() = fawed

fpefefaEs o = JEE 87

1) wd e da § e e e e
@), W e Feafh |5 €

(3) T HHER A9EELE £ |

(9 Tt wfeEfya ez €1

Ffm 97 fr=fafas & | feas fau fasm aw
Zefifrafon &2

(a)  Ffgwargel 9viH 39 % fou

(b) A F TE H=A Aol FU 99 & fe
fefafan i a R m fargm adt 22

(1) - %ad (b)

(2) = (a) a41 (b) A

B  (a) T (b) ¥ | TE

(4) A (a)
ﬁwhf@aﬁﬁaﬁqmﬁzmm.miﬁﬂmﬁz
T2 2T aie § I9ee T 2

(1) ~ =

2 TrEHY

(3) F=tEmA

(@) TEE
t{q.maaﬁaﬁtﬁﬁﬁn{mnmﬁ?m@
H HH Bl a9 Had =g
HiZ S I ¥ ;
(1) saM72 (2) 127964

@ 12972 @)  samesa
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46.  lnputdevices most commonly used on laptops | 46. ¥F® e & fom a1 W ST T L4

for routine operations are a@ g2 fearm FAat?
(1) Keyboard and Mouse (s FIaTE a1 °IEH
@  Kevboard and CD-ROM @) @ T HrE-1m
(3  Mouse and Pendrive (@) HIEH A TEea
(490 Keyboard and Screen ! warE A A

47.  Which of the following features is used toapply | 47, U =S ¥ 9m i 780 WWE & #A F 7

motion effects in between a shde exits and A R =@ % fe fopeetfatran # A f&H
another enters?
AN ferdraan @1 Fwam faan = & 2
(1) Ammaton me
: i (1 A =Hin
i) Shde Design
g @ e e
(3)  Slide Transition :
(9 Animation Objects ©,
() TR st
48 Which of the following are Indian IT
companies ? 48, Froifafaa § 8 #@ & sy snéd Fafaal §2
{1) Inteland HCL (1) A A HTE,
2) HCLandTCS (2) ~ TEHLUA aw A.H.08.
3 DELLand TCS (3 @AW AR
() Intel and Wipro (1) 72E e fam

49.  Given the following pairs : 19.  Frefafed 3w m“‘.ti
@ WiFi - Modem @ A-wd .
)  Chrome Cable (b FW -
© File - Harddrive Q. Wi
@ Charging -  Cable @ Wil L
Which of the above is an odd pair ? 8
(1)  (byonly 2 (only
(3  (c)and (d) 4 (a)only -il':'

50. Which of the following option is used
data from one place to another in a
(MS-Office) ? s
(1) Paste @ G
m m ) =




51.

PART - II / 9T - 11
(4) PEDAGOGY / fremmomen

Which of the following are important barriers

in the equalisation of educational
opportunities ?

(@)  Differencesineconomic states of learner
(b)  Gender disparities
{c) Common school system

(d)  Differences in the standards of
educational institutions

Code:

(1) (a)and(d)

(2) (a), (b)and (c)

(3) (a), (b)and (d)

(4)  (a),(b), (c) and (d)

Which of the following is not characteristic of
the socially and emotionally mature person ?

(1) He makes conformity to social
expectations his primary goal.

2y He is relatively free from anxiety and
conflict,

(3)  He is capable of exercising control in the
face of emotional stress.

4y  He has a sense of humour and positive
outlook on life.

ot be visualized as a role of the

What can n N i

teacher in teaching t
(1)  Creating the problem situation.

(2)  Assist students in perceiving, defining
and stating the problem.

{(3)  Assist students in finding appropriate

solution to the problems.

(4)  Create fear free atmosphere in the class.

18A

51.

53,

frefofan o & @1 fen & sfeet o gara i
Hewgul A 2 7

(a) Toenedi =1 snfef= feufa 6 3=
() St FgEEa (fam 92)

(©  Heur fagamera et

@ e GEEl F AEEH AR
e

(1), (a)3M(d)

2 (a), (b) #(c)

(3)  (a), (b) I (d)

@ (@), ®) (@)

fr=fafas o 8 7 g g g9mas =9 8
afiyEE = 1 E2

Y@ Aed T €|

4

(3) 9% HAMoE 7oA H feafs # wam aAm
@ | wed B

(4) = ferfiafir 8 & qen Siem % vl gerer
afihTo T ¥

HHEN WM #F B A e § @

(1)~ |aem F1 feafa #1 fFmfo e

(2)  HHER ) WA, R we aen w3 &
fereneff =1 w1 ) _

1 HERTA A

(4) e H vE qE AE 1 iy
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64. The conceptof [P (Individualized Education
Plan) is not based on the idea of :
(1) current strengths of the learner
() individual goals to be achie ved
(3)  useof cooperative learming strategy
()  separating children on the basis of ability
grouping

55. What is not a major concern of the school on
the development of child’'s language
competence ?

(1)  lssuesrelated to articulation and literacy
(2)  Enhancing vocabulary quantum

(3  Ability to use language and ereate

(4)  Tothink and communicate with others

56. What type of efforts are needed to be made in
learning of Mathematics in early primary years
1.e.. upto elasgs IV ?

(1 Diagnosing learning difficulties
(2)  Providing enrichment programmes
(3) Completing the coursefcompetencies

(4d) Ensuring regularity in attending the
class/school

57. Which of the following is not a mode of
Computer Assisted Learning ?

(1) Tutorial
(2) Drill and Practice Session

(3) Modelling
(4) Data Interpretation and Drawing
Conclusions

58. A school curriculum can be best defined as ;
(1)  The complete array of the courses of study
{2)  All the materials used to further pupils’
activities
(3)  Acomplete set of organised experiences
in the school

(4)  Sum total of knowledge to be provided to
learners

bd.

55.

b6,

a7,

58,

s e Ao (e d0) Frer A 9 T

foram T e e €7

() Foeneft ) At ferdoad

@ e fEd S A AT e

@) Tt Sfery G F ST

@) e T 3 T e
1 AOfEH0

Frfafaa 4 & 1 7= 1 v aef & s
. fererd %1 W@ HiHR T8 € 7

(1) I 9o e el fau

(B T2 W 1 9T S8

@ e SyEm qen fEton e aEa

{4V‘mamam§aﬁ#mﬁaﬁm

SRy % Wyt =91 s1gf Fen 1V 9% o &
AT ¥ form v % v foRd 5 1 saeaend
87
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(2) HAT FHFA YSH HET

(3)  IEHFH / WeaHeed / Hee w1 9 F

@) e/ e S A FEfoaa gffem
GG

Fresferfaa 3 & =i FPe %1 gewa 4 s
&1 fafy = %2

() eI ()

(2)  HETE T A Y {fﬁaﬁmw}
(3), wfTEam (wizfem)

(4) mﬁmmamwﬁm
ferelt foremer ez =7 waifi
(1 Wﬁ@w '

(2)4 ﬁuﬁﬁ%f?ﬂmﬁmﬁ
F ST A T T q&m%ﬁm
@  forEmem § wnfan s

) ﬁmﬁﬁ&mﬁmﬂ H?T'az

e
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59. The most important issue of a multi-level
situationis:
(1)  seeking cooperation amongst students
(2)  Class size exceeding 30
(3)  Addressing the learning needs of different
level students of different grades
simultaneously
(4)  Arranging appropriate TLM
60. A child takes a favourite book and retells the
‘story’ often by using pictures as cues. Atwhat
process/stage/component does she/he
demonstrates ?
(1) Narrative
(2)  Syntactic awareness
(3)  Emergent reading
(4)  Phonological awareness
61. A teacher would become more effective if :
(1)  he/she uses good instructional aids.
(2)  he/she helps students to ask question.
(3)  helshe helps students to achieve mastery
learning.
() students score high marks.
62, Social maturity is best characterized by :
(1)  ability to win friends and influence people
(2)  ahigh level of personal adjustment
(3)  ahigh degree of social competence
(4)  ahigh degree of integration ﬂfm}f S nee_d?
and purposes with those of the socia
order
1845

59.

60.

61.

62.

ag-Tig feafa =1 Faifus meayl faug 2
(1) Toenfeai @ wedm &1 9 w0
) =N | faemed Se=n #5130 9 i w7

3, fafiuz 4ot I fafss w0 = faenfdai =i
AT AETEFIE] U e 0w

(1) wgfaa eed afer woE (TLM) i
SEE] HAT

U o= AT TS TR o § 9% v e
=1 UM % &9 H I9AN F THH Fer! B E
Fedl £ =% o vl a0 / H9ga Fi g/
zoifet & 2

(1), HAEAH

(2) AT STl

(3  ifas 934
(4) T Ay
=13 foarF =gd y9E 7 e 4ty

(1) = 371 e Semes | %1 396m Hi
(2) =% faenfe 1 97 god o e =t
(3) T foenfdai %1 waom 3 verm =t

(4) mﬁmﬁaﬁmmmﬁ

mm%wﬁmmﬁnﬂ
T v v forn = wwm &

) o ST o S w5 wafan w03 53
Blen)

(2) 3= T T TafEE qurEEE

(3) ¥ W * Ui e

), AT AR e WS a5 TR
AFFEFAA v 2y ¥ 39 ga=y
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{al

(k)

(c)
(d)

\{atch the two sets. Set: | ipdicates stages of
,:-.}gntti'rc development in Piaget's model sfnd
get - 11 indicates associated characteristics.
golect the correct code to represent your

answer.

Set-1 Set-1I

Sensori-motor ()  Reversible
thinking

Pre-Operational (i)  Ohbject
permanence

Concrete Operational (i) Egocentrism

Formal Operational (iv) Deductive
thinking

(v) Repebiive
tasks

(vi) Intense self
awareness

Code :

(a (b)) (© (@
@ G 0 G
@ & ¢ @ o
@ M @ @ )
@ ) ) v @

Which of the following best describes the effect
of heredity upon development ?

(1)  Heredity determines how far we will go
(2) Itdetermines how far we can go

(3)  Itisthe prime determinant of how far
we will go

(4) It is the prime determinant of how far
WE Ccan go

Identification of learning gaps of children and
plugging them is done through -

(1)  Team teaching

(@) Reflective teaching
{(3)  Remedial teaching
(4 Re-teaching

A-14

(@)

(b)

(c)

(d)

AR A1 F FEs e
- 2 uﬁmw%ﬁmﬂz‘-ﬂ

T F2 F1 994 it |
-1 uz -1l
T @) e e
(il ) (feafeaa futm)
WafEaeE ) 99
(oft SR (e THH)
e () SRR L
(T2 HTTAA) (grdfE=H) ‘
e SRR Gv) AT
(el ST (fesfaea fufam)
v FREEFEE |

(vi) TEA 2 e o

C T

(a) (b) (¢ (d)
() ) @u) Q) (iv)
@ « M~ @ @
@ & a  Gv) ()
4, ) @ Gav) @

Frerfafad 9 2 w7 fawm § argetems & gwa

1 T ST AV FAl €2 "

(1) SETR e 93 F 2 B T aw
= |

(2), T T 91 F T FA & wn el aw o
Ed B

@) A F g Fuir & e e
S | :

() RN A g e & =
wERE ik




67.

69,

you have administered a test on Mathematics
1o class V, most of the students failed in it. You
have to construct and administer another test.
Which test would you prefer ?

(1)
(2)
(3)
(4)

Summative test
Mastery test
Diagnostic test

Formative test

Emotional response to symbolic stimuli 18
primarily the result of:

(1)
(2)
(3)
(4)

maturation
learning
adjustment

increased sensory perception

A peneralised view or characteristics that ought
to be possessed by women and men

constitutes :

(1) genderroles

{2) genderidentity

(3) gender disparity
(1)  gendersterectypes

The best way to handle a wrong response of a
student would be

(1)

(2)

(3)

()

to explain the subject matter in detail
again.

to tell the student that your answer is
WTOng.

to ask another student to give the correct
ANSWET,

to explain and give another chance to
ElVE answer.

0. Micro teaching is a technique used for :

1847

(1)
(2)
(3)

{4)

teaching small sized class
teaching in a simulated condition

preparation of teacher in specific teaching
skall

teaching difficult concepts

67.

68.

69.

70,

oo Feq V3 Tfor 3 faenfeEi =5 aiten s
=71 Ta e faenet T T w9 s
@ﬁuﬁmﬁfﬁﬁwﬁwmamnﬁ&ﬂﬁ?ﬁ
| a9 FA-Hl T T TEE FO2

(1) HeFerATesh TLIET

@) e T

3)- e

()  TEATEE qaET

ST Seerad & ufd et sEfEn e 9 |
ferqar] Ao €2

1) R

(2) AfTH

(3) "HAEEA

(), dafva gfem-am

T fa=r a1 faseand s o g a9 wfeen
1 gt anfee, A H A FNE?

(1) ws yfmeE

(2) o ST HHAM
(3) A=t TEuEa
(4) ST EZ U

feelt ferenefl =t arfe@ st =1 foer =1 379
T‘Fﬁﬁﬂ%:

(1) forenei 1 g fawm areq & ai H foraw @
HEFTA

2 ﬁmﬁ@ﬁm{ﬁ;mﬁm%l

) o foenefl & W s aan F ford e

(), e FT I I ford gom sraww
WA T |

HE S99 (Micro teaching) Ueh aaiias o
I9A foman s % g

(1) ﬂﬂrﬁmwﬁﬁmaﬂ%w%g
2) %ﬁﬂﬁﬁlﬁﬁmgﬂ
{d}f %Wmam%ﬁ
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T2,

73.

T4

75,

PART - 11 / - 11
(5) SUBJECT CONCERNED | weaiterd faud

o 3 g e ae 1 S R e
% fem T 27

i e T ¥ e orEraeE g €
{1y WA @ 'H'{-_[)aﬁ

@), M1 (@) T

T Al 9 Al Y@ S & wiEn w5
fore # feam 0 &2

(1), o, zfae, i, s

(2 maﬁﬁﬁ, m,?{

(3).s ﬂﬁﬁﬁmmm

() T, s, 2, fea -

|'ﬁqﬁiﬁmmﬁ wmgul
ST A Taferd W H F - T 2
(1) =Zda<d G e
o @' Ty

"

IF T T e

TusX @ T e
PRI @ Smm

ilics Wﬁwmﬁﬁﬂ

76.

78.

79.

mq\amﬁ#wsﬁmﬁﬁgﬁﬁmﬂ% 1
3% 71 %l S € 7 |

(1), dHH (2) ﬁqﬁ |
@) AE () af-aeEd
e’ 3 & e ST Sy fehd fere
% fau M ¥?

(1) W T @) o
Gt ol 4 T

TAR H AT E

it J (2 TEEH

@ T @) e

(1)  mfq o

(8)_ ot o

w3 A e F s

W gewie
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1844

Choose the option which best describes the
meaning of the underlined idiom,

She crawled forward inch by inch_
(1)  slowly and carelessly

(2)  lazly but carefully

(3)  quickly but carefully

(4),, slowly and carefully

Choose the option which best describes the
meamng of the underhined phrase in the given
sentence,

Who can say who will turn up next ?

(1)  withdraw (2) win
(‘3'];, arrive (4) depart

Choose from the given options the word similar
I meaning to the one given below :

Froth
(1)  foam (2) wave
@), fruitful (4)  gross

Choose the option to fill in the blank with the
correct form of the verh.

Where's my pen ?

‘Ram it yesterday.’

(1)~ hadlost 2) lost

3  haslost (4)  wouldlose

86.

87,

(1)
(2)er
(3)
)

88.

B9,

Choose the option to fill in the blank in the
following sentence with correct form of the
verb.

We Ram and Shyam for many
Years.

(1)  knows

(2)  have known

(3) Iknow

(4) > have been knowing

Choose the option in which each word in the

following table has been correctly matched with
its respective part of speech,

fnamy flux but can
Conjunction Verb Adjective Noun
Adjective Noun Conjunction Verb

Verb Adjective Moun Conjunction
Noun Conjunction Verh Adjective

Which form of sentence is the following ?
I was offered a chaiy.

(1} Active

(@)~ Passive

(3) Interrogative

4) Imperative

Choose the ion to fill in th

inthe&u“;:;:::t ﬂpt:lfm-tqﬁllm the blank

Sita 2
haﬂﬂnt-_____mceamﬂe

M a @ an

C]loume the correct nptmn’tnﬂl mtha b].n.n]% M

in the following sentence.
He ryles

) i
'[31_,019&




= 0 T el A 21 ms L EsED

At time t=0, a scooter has a velocity of | 91.

1. |
91 ms-!. Itslowsdown with an acceleration e 3 79 8 @ ¥ilgs® oA
{: iif;:ds_- 2 At the end of 4 s, the scooter has e @ sl ey ._
() 30m (2) B4dm (1), 80m (2) 84m
(3 100m (4 104m (3) 100m (4) 104m

92, Hifzam H W@ oAl & faa €

92.  The correct distribution of electrons in sodium

I8 : (s 2,81 2 2,63
( 2,81 2y 2,63 (3 551 4 2,64
@ §351 @ 2,54

93. Hqw Ui TS EhIEA AT &

93. Which compound is a saturated aecyclic -
hydrocarbon ? (L)~ =A
(I) Butane 2) F=E
@ Benzene (3) UEFERRA
()  Cyclohexane
(4) ufem
(4)  Ethene

94. aﬁéﬁmﬁmmiﬁﬁﬁvlﬂq%w .

94.  Anobject covers two consecutive i
: equal distances I fovg =t 3iea 9@ i:'iﬁ'ﬂﬁl
with speeds v, and v,. The average speed of SIS i =l 2
the object i=:
vy 4V
: ) =2 e
(1} V]‘}-\-E 5 'l.Fl"I.-'g = 2 {2:' EE_VI +v .] I
: % 2 |
= 2{1-"] +\."2:] |
Yiva 2w |
ViV {3} vitvg lvz
e @ A ¢ D Sy
itve Vi+vs

95. #ﬁqﬁiiﬂqwmquqﬁmm .

95.  Anopenjeepis moving on a straj i
:em:fﬂh:gh J: ger:juunusutl:ing on the front 118 1 FHA1v Tqy Emam? Ifa-érF bt Wm
some time the ball : g R g - b b
(1)  falls back in his hand. (e 9% 719 T et 2

(2) fallsi '
i nﬂ::tnftheleep, (2} ?ﬂq%ﬁmﬁﬁmﬁm
alls on the back seat of the jeep
; S =i freh :
(4)  falls outside the jeep. 23:' :Eﬂq: .mmﬁmtll
1) T et 2

A-18




96.

.

100,

1847

Anobject of mass 40 kg moving along a straight
line with a horizontal velocity of 15 ms~!
collides and sticks to a stationary wooden block
of mass 10 kg. If the surface is smooth, the
combined object (object and the wooden block)

after collision moves along the same straight

line with a velocity of :

(1)
(3)

9 me~ ! (2)

12 ms=1 (4)

10 ms—!

12.5 msg~1

An object is covering distance in direct
proportion to the square of time elapsed, What

conclusion can be drawn about the motion of

the object ?

(1)

(2)
(3)

)

The object is moving with zero
acceleration,

The acceleration of the object is constant.

The object 18 moving with increasing
acceleration,

The object 1s moving with decreasing
acceleration,

The resources of water on the earth are :

(1)
(2)
(3)
()

Sea/Ocean
Snow on mountain and near poles
Monsson rain

Ocean, snow and rain, underground
water

Which one i not a rabi crop ?

(1)
(3)

Peas
Wheat

Mustard (2)
Black gram (4)

Which food gives energy instantly ?

(1
(2)
(@)
(4)

Food rich in carbohydrates
Food rich in fats
Food rich in vitamins

Food rich in proteins

96.

7.

98,

99,

100,

16 ms~1ﬁﬁﬁﬁﬁﬂﬁﬁﬁmwﬁm
TR e 40 kg ZTA 1 0% 10 kg B
foret fer et 35 e 2R foT0 A €1
afz g fagen & A W F TTEN HIH e
(fvs ey ) S SR
forer & 4 it M2

(1) 9ms! (2)
@ 12ms”! ),

10 ms !
12.5 ms—!

¥ fyve 28 wHR T e & fF I9E gr et
it 5l feru T wHE & ol & ST €| 39
faue =t fa & fawa § =0 ferd fremen s s
27

(1 favz 3= @ | faEE §

2 fauz =1 = fa 2

@ _, faos aed = 4 nfd 3 w1 2

{4;xﬁuguzﬂmmﬁﬂﬁ:mﬁﬂ%r
-

et T SE % HEHMA

(1) |92 / HeET

(2) TR 9 yE o fam

(3)  HFgHA =

(@), WemrR, fen, awi & yfgm @

ﬁﬁ“ﬁﬁﬁahaﬁ?ﬁmﬂqﬁ%?

@) @ W

T A 0 3o 2 2

(1)_~ Wﬁﬂﬁ'iﬁﬁg{qﬁma
@) o o s 5

© o o it stfires 4
@ S o S s 5
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101, Watt second 18 the umtof:

’ force
(1) ENergy (2) i

WET
(3) momentum 4 po

Organ that transports blood to various parts of

102, _
human body is :
(1) Heart (2) Kidney
(3) Liver (4) Lungs

103. Anobject of mass 10 kg is moving with a velocity
of 5ms— L. Ifthe velocity of the object is mp_led,
the change in kinetic energy of the object is :
(1) 90% 2y 300%
(3)  B00% (4)  900%

104. The length of the small intestines in the human
body is :
() 10m (2) 2m
@) 75m (4) Im

105.

Pick out the correct statement.

(1) Burning of fuel is 2 physical change.
(2 CHy, H,0(g), CFC ete. are not green
Ouse gases,

(3) Chlorophyll. a

Ereen coloured p;
actsas a cataly Plgment,

stduring photosynthe ain.

) Uranium - 23518 non-radioactive

A-20

102.

103.

104.

105.

i s 3 g T ) TR A S .
A E ?
(a1 w3 @)y gEE

@ 7 @ T

10 kg ZAF F1 FE fvZ 5 ms—1 F A1 4
Tﬁ“WT%Iﬂﬁ{EHﬁWEEH?ﬁiﬁFEHHFEﬁf%m
W, 1 fave 1 nfes e 1 g aren 9iEdd €

(1) 90% (2, 300%
(3) 800% (4  900%
S % ¥ H B A F wE= e 2
(1 104 2 2T
{3}'/ 7.5 T‘ﬁ (4} 1 'q-"'

W YA F 9

(@ TS - 235 iy = 3,




106-

107.

108,

1847

Consider the following statements in the context
of levers of third order :

(a) Inthese levers the effort iz in between

the fulcrum and load (weight).

(b)  The mechanical advantage of thizs kind

of levers is more than one.

()  Tweezer and human arm holding weight

on the palm are examples of levers of
third order.

The correct statement(s) is/are :

(1)  Only (a) (@) (a)and (b)

(3) (b)and (c) (4) (a)and(c)

Which one is wrongly matched ?

A B
(1) Mercury Nearest to the sun
(2) Venus Hottest planet
(3) Saturn Planet without rings
4) Mars Called red planet

An 8 metric tonne engine pulls a train of
5 wagons each of 2 metric tonnes along a
horizontal track. If the engine exerts a force of
3.5 x 104 N and the track is smooth, then the
force exerted by wagon 1 on wagon 21s:

2 8% 101N

(1) 35x10*N (2)

3 1.4x10'N (1) 70x10°N

106.

107.

108.

Ferg Avit F el & wed ¥ 9 fau T FeE
1 fa=m =ifa

=9 Sl § AT e i W # A
T B g

(a)

= 4vif % Tl F AR @ O

(b)
ferr B € )
©  femdt qem FrE- e el WO 4m
mqﬁuﬂ“ﬁ#‘aﬁﬁﬁ?m%l
= | W FU e
(1) FaEc(a) @ (a)#D)
@ B3I @), @IE
FIAH Terd gRfera & 7
A B
(1) 49 4 % "wad uE
2) & Had TH T8
(3),. WA T fn #7118
(1) W@ . @ U6 oo ol

8 Hiifoeh 27 Eoam =1 0% T51 5 feedi ol faeht
24, fored vl fesd T gomm 2 difew = &, 0
Sfas 920 T =9 T E@iE @ ) 3t Tm
3.5%10% N 9a @l § 991 w=d foit & &
femn 7.1 fo=t 7.2 Wt foremn =@ sfd w2

(I} 3.5x10%N @ 28x101N
(3 14x104N @ 7.0x103N
A-21



y

; fan
: - -aph of the motion ©
stance time grap : he
109. Hfhif:; ' straight line but not parallel to tl e
the::.i‘iiﬁ then it may be concluded that th
time X185, :

object 18 moving with a :

(1) non-zere acceleration
9)  constant acceleration
(3)  increasing acceleration

(4) constant velocity

110. Which one is a wrong statement ?
(1)  Solids and liquids can not be compressed
while gases can be compressed.

(2)  Gases spread to occupy space available
to them.

(3) Liquids evaporate silently producing
cooling effect.

(4)  The mass of 0.5 mole of N, gas and

0.5 mole of mitrogen atoms are 28 g and
14 g respectively.

111 [f20% of 50% of x is twice the value of 50% of

25% of y, then x 1s what percent more or less
than y ?

(1)  100% more (2) 150% more

3)  125% less (1) 250%less

112. In a circle with centre (),

are parallel chords on o
AB=20 em, CD= 48 cp
h_etween the chords is 34
(in cm) of the circle js -

chords AB and CD
posite side of Q. |f
m and the distance
cm, then the diametey

(L 26

A-22

109.

110.

111

=

112,

%ﬂ?ﬂﬂﬁw--:ﬂ?ﬂﬁ-‘.m?ﬁ ¥ g

ﬁmmwﬁfﬁmﬁ:
1) ERYARE

@ T

@ TG FAR

{4) ﬂfﬂﬁﬂ'ﬂ%

F1H T Y T © ¢

safe | =1 wdifed fFan 1 gt 21

(2) Tra |l I TE FOET A 2

() 7a wfrgEe arefiga F2 e de F
Tl

@ 0.5 A N, T4 9 0.5 H1F N w9 %
RoAHA FE: 28U 9147 F |

I 3 50% F1 20%, y F 25% Fy 50% =1 AT
% M x, y A o wfvm sifum g 25

(1) 100% iy (2) 150% sifir

4 i
*ﬁﬂmﬁ@%ﬁwmwmmg

ﬂnﬁ#ﬁﬂﬂﬁaﬂﬁﬁﬁﬁl 7fg AB=209 1

CD =48 3 7, S Sfansii 3 iy
Eni
& N H o (Anh ) 8,




[nAABC, ZC=60°, £ZA="T5° AD L BC, where
Disapointon BC, BE LAC atE, whereEisa
point on AC. AD and BE intersect each other
at H. What is the measure of ZCHD ?

113.

(1) 60 @2 55

3) 50° (4)  45°

114. In AABC, the sides AB and AC are produced to
P and Q, respectively. The bisectors of ZPBC
and ZQCB intersect at a point 0. If ZA = 56°,
then #BOC equals:

1y 28 2y 42

(3) ~56° 4 62°

A solid cube of volume 46656 cm? is cut into
8 cubes of equal volumes. What is the ratio of
surface area of the original cube and the total
surface areas of the smaller 8 cubes ?

115.

=}

[Tl L
(3) 23 (1) 3:4

(2) 1:3

et [ P et
116. [8—]] iy [-2—?—] 2 F[%] is simplified to :

(1)

117. In a quadrilateral ABCD, £C=102° and

2D =58 The bisectors of ZA and 2B meet at
P, What is the measure of ZAPB ?

T8
100°

1) ez (2)
3 8r (4)

18A7

113.

114.

115.

116.

117.

ZA=T5°, aD.LBC%‘ i

AABCH, £C=60°, ZA

D. BC YU us fag 2 a41 BE L AC, EWE, &l E,
ACTE fag ¥ AD 791 BE T H W ¥fa=e
FHEI LCHDHI AN E : ™
1 60 @ 55 @
@3 50° @, 45° e
AABC i y=d AB 3R AC #1 FAY: P AR QTF
war T &1 ZPBC 3 ZQCB % WHEHSE
momﬁaﬁﬁ%nnﬁﬁﬁ—ﬁﬁ”%ﬁl
ZBOC T ¢ : "E’;}G N
(n 2#& (2) 42

3 56 4@ 62 4
J .

AT 46656 W3 T TH 219 94 H1 8 FUAL
S AT WA 8 e 9 €1 7 99 % gEd
AT F1 B2 8 T F Fel et R 4%
A AT TN E?

(D2 R

@ 2:3 @, 3:4

: = =

1 2512 (b

[m] X[—g-] {2] =] WA A T
I B E

1
(1) 5 {21 1
® =+
: @ 4

YT ABCD H, £ZC=102° 3 2D =58 ~A
3R /B % WHiGISE TR P R faed 1 2APB
FFNEGE?
A 62 @ 78

@ 80 @ 100"



an article at 8% gain. Had it been
o the gain would have he.r_!n
2 ¢G50, then gain

g Haman sold
5 sold for T 1560 more, t
14%. If he had sold it for T

percent would have been

(1 4 2y b

If the roots of the eguation
(q—r)a2+ (r—p)x+ (p—q) =0 are equal, then
which of the following is true 7

119.

I p+gq=2r ) ptr=2q

(3 p+gq+r=0 (4) p—q—-r=0

120. The length, breadth and height of a cuboid are
inthe ratio 1: 2 : 3. If its total surface area is

1100 em2, then its volume (in em?) is :
T80

3 1500 (4) 150042

121. LCM of two numbers is 340 times their HCF,

If HCF 1= 26 and one of the numbers is 442,
then the other number i -

(1) 260 (2) 390

@520 @ 560

122 A sum amounts to 7 37,632 at the end of two
years at 12% per annum compound intere
interest compounded annually. What wili.f;vr
€ simple interest on the SAME sum at the 5 :
rate for double the eq rlier period 2 o

1y 7200 (2) 8,000

3 T14.400 @ieTe o

A-24

118.

119.

120.

121.

122,

T 3 TE AR 8% o W Adl) A T Y
7 150 i e T A=t S, d @ 14%
3| afz e 9 F T 2,650 T A=, W A
!Tﬁ'l?lﬁ'@fﬂ?:

a 4 (Z)

»

]

)

3 6 6.5

ﬂﬁ:'ﬂﬁm{q-r}xz+{r-p}x+m'q}=ﬂ#%
oA g @ e | A EE

() p+gq=2r 2, ptr=2q

3 ptg+r=0 4 p-q-r=0

T 57 F e, e A FEE H 12 3
AU | AfE THH T yord fAEa 1100 8412

T T IEE oEd (@HEH) B
D, 7502 (2) 750
@) 1500 @) 15002

aMaﬁﬂa.n.{mM}mqucp}%34-:3

THF AR E | A T A, 26 F iR v g
442 %, ?i'ﬁ{ﬁﬁﬂ"@ﬂ g

.
@ 520 ™ @ 560
e o
o

s
ﬁﬁnﬁmﬁmzaﬁwm%mmg
¥ 37,632 %, SAlH = A wifam EY

3 o T I A v Y

HIYRY &A1 a1 2 2 @W%m

(1) 27200 (@) ?Eﬂ'l}[}

G

DT L@ 6,000
W

""ﬂ/
- 1aaw£



123,

125,

126.

127.

A th
‘A’ nlone completes :} DALYl aimioels g
20 duys, The remaining work then completed
by ‘A" and B working together in Tahs: How
long would ‘B alone take to do two times the
original work ?

sl
(1) "'.J

]

daye (2) 40 days

{3y Thdays () 80 days

Two vears ago, Ritu was three times as old ag
her daughter and two yvears hence, twice her
apge will be equal to five times that of her
daughter. What is the sum of the present ages
of Ritu and her daughter ?

(1) Ol years (2) 64 years

{(5) H2 vears (1) 50 years

The diameter of the bage of a right circular solid
evlinder is 14 cm and its volume is 2002 em?,
The total surface area of the cylinder (in cm#)

18 | Take n = %J

(1) 140 (2)
(3 BRO (4)

GG0
1320

A certain sum ig distributed among A, B, C
and D in the ratio 3 : 4 : 8 : 6 respectively. If
the share of C is ¥ 2,820, more than that of B,
then what is the sum of shares of A and D ?

(1) T 5,460 (2) ¥5,640
(3) T3,564 (4 6,345

The ratio between the curved surface area and
the total surface area of a right circular cylinder
152 - 3. What is the ratio of radius and height
of the eylinder ?

M 1:2 @ 2:1
(3 2:3 T I

18A7

128. ‘A’ when et wm & % 20 fom d g

124.

125.

126.

127.

AR I wE WA A B e g G A
AArE Fd ¥ B shen waivE w1 F T o
farer fem | gn wom 2

1
37 - fe= 2 40f=
(1) 4'?2

@ 75feA (1 sof=|

2 = v, g 1 A A g e #
?#maﬁﬁmmﬁﬁaﬁm,mm
1 20N TAE T A A % U T A
1 fag 2 3EE G A AAHA S A

g
(1) 5074 (2) 4=
(3 H2aM (4) 5599

v wd g 28 ded % ST Al 14 A
% A TEH A 2002 RS ) 9O FFE

e e (A2 ) % [n = E_?m}
(1) 440 (2)
(3) / 880 (4)

660
1320

FEUAA B CHARDH3:4:8:6F 3T H
@13 et £1 afs © WM B # W A T 2,820,
#fue &, @ A 3D ¥ 9ol =1 3 = Em 2

(1) 5,460 2
(3) 3,564 (4)

25,640

76,345 A

UF | g A6 & W Y2 AAEE adl Fd
gt drhe H 2 : 3 1 AW €1 4o i B

Au Feé o o A 7
(L)l ',{2} 2.
) 4 3:2
=

n f?
o



128. One of the factors of 3—3x2+3x—=218:
() aEdxtdl @) x2—x+1
@ -zl (4 2ix—1

129. The measure of an angle for which the measure
of the supplement is four times the measure of
the complement is :
a1y 20 @ 3
@) 45° (4) 60

130. What is the ratio of the area of an equilateral
triangle of side 2a units to that of a square,
whose diagonal 15 2a units ?

) 3:1 (2) V3 : 4
@ V3 2 @ V3:8
131. Torrid zone lies between which one of the
following latitudes ?
(1) 23%°*MNand23%°S
{?.:I 23%* N and 66¥:" N
(3) 23%°Sand 66%°S
4) 66%°Nand66%°S
132, :’;Iuc?rding_ to the Census of India, which one of
Erz '-::ll'?wmti 1:&_@r-nentigﬁve:}I of decadal population
rate i applicable i -
2001 2011 7 PP for India during
(1) 16.64% ) 1764%
3
(3) 18.25 % (4) 19.34 %
A-26

128, - 822+ 8x—2 F UGS 4 § TF THES

129,

130.

131.

132.

2
1) +x+1 {2}" 2-x+1
@) x-x-1 (4) x2+x—1

34 F1 %71 719 forger G 9% T b T
& ¢, R

o wh
v
2 3

(4)

(1 20

®), 60°

45"

Y 2a THE A UF FHAE AqE F AR F
wF 71, fome fawol 22 79E B, F 49% 9§

I € :

@  3:1 @) J3:4
@) 3 2 @ 3:8

3w FHfeay Fefafaa & @ fea s F =g 8
B &2

(1) 23%°3 AR 23%°%T
@ 23%°3 3e6%°T.
(B3) 23%°%. AN66%°T.
@), 66%°3 366y T,

frefafes sfawd § 4 =7 2y TG

21 Tyl & 2 k-2
(1) 16.64% @ 17649

@)y 18.25 % @ 1934 %

1845
b=



133.

134.

135.

136.

137,

According to 2011 census, which one of the
following figures shows the population density
of India ?

(1) 328 persons/sq. km
(2) 375 persons/sq. km
(3) 382 personsfsq. km

i4) 430 persons/sg. km

Ifparallels are drawn/marked at an interval of
one degree, how many of them would be in north
hemisphere ?

() 89 2y 90

@ 91 (4) 180

Out of the following percentages, which one of
the following is correct for Nitrogen gas in
the atmosphere 7
(1) 70%

@  72%

@ 78% )  82%

According to Census of India 2011, which one
ofthe following percentages of urban population
m India is correct ?
) 25589%

@ 28.10%

3 30.20% (4)

31.16 %

B .
“Mmunity lands are called as :

e Common Property resource
() :
' Private property resource
(3
) Government property resource

(4
) Non-governmental agency resource
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133. 2011 ST % STER Frefafas st 4 8 wy

134.

135.

138,

137.

F FAEE I Fl A S # 2
498 =afaaEd feH.
375 =AfFaT 6.,
382 fam/an fa.Hl
430 =fFasaT fa. .

(1)~
(2)
(3)

(4)

s wF feut % dAqua T s TEei Hi
dr=1/fafea fem 9, @ 3o Tiens | ST Fd
ferart T Bt ?

(1) &9 (2) 90

3 91 fd,L_, 180

fretferfiad fa ) sfavdi 4 & #H-a1 armvea
o T S A A2 T ¥ o ad #2

(1 70% (2) 72%

(3 ), T8% (4) 82%

mﬁmzuuﬂ:wmﬁﬁm
T%mmmﬁﬂm@
(1)

(3)

25.68 % (2)

()

2810 %

30.20 % 31.16 %

(1) ﬂlﬂaﬁq;mﬁmm
(2) ﬁﬁ‘qmﬁ;w

@) HEHT Ty ey
) ﬂ'{—‘ﬂ'{a;rﬁmﬂ ]



138. Which one of the following statements 18
correct ?
(1) Inamonarchy, King has absolute power
to rule the country.
() In a monarchy, people can raise
questions about the decisions the
monarch takes.

(3) Inademocracy, king has absolute power
to rule the country.

(4  Inademocracy, people donot participate
in the process of representatives election.

139. Which one of the following is known as standard
Merdian for India ?
(1) 80°East (2y R2%°East
(3)  85°East (4) 87%°East

140. The Ninth Five Year Plan was implemented in

the country in which one of the following
yvears ?

(1) 1995 (2)
(3) 1997 (4)

1996
1998

141. Which one of the following is known as ‘father

of the Indian constitution’ ?

(1)  Mohandas Karmchand (andhi
(2)  Bhim Rao Ambedkar

(3)  PanditJawahar Lal Nehru
(4)  Sardar Vallabhbhai Patel

142. Terrace farmin

the following areas ?

(1) Hill Slopes

(2)  Gentle Plaing

(3  Glacial Mountain Peaks
(4) * Coastal Lands

A-28

g 1s practised in which one of |

138.

139.

140.

141,

142,

frefafad § 4 FF W FYA W@ € ?

(1) jmﬂ_w%mmﬁﬁa;WTﬂ
oifem 2t 21

(@) T, e ot T T R E
i

(3) mﬁ,m%wwaﬂﬁ%ﬁm‘ﬁ
wifgd 2t B

()  dreeAd, A % g 1 9w A
TS I @ Al

frifefas o 9 fHd YR #1 9FE <9<l & 89
T S S8 7

1y 80" @), 824"
3) 85 (4) 87T%°gE

291 4 791 y=auig A HefaiEa J | e 9y
T e FE 7

(1) 1995 (2)
@) 1997

1996 =
0y, 1998 o

' et wiaum & O’ & w9 4 faefafas § 9
ford) ST ST € 2

(1) TIEeE TS T

@), g TE STEEE

(3) uf=d SEw T ws

(1) WER FEEy W v

iR &t Freafeafian @ fo A 4 2% e
2

(1)< WSl Zeri a1

(2) HETA HewH v §
(3) e e wEa foray o
@)  @a W




143. Transfer of water on earth and its atmosphere

includes which one of the following group of
glements ?

(1) Precipitation, Run-off, Wind and

Temperature

{2)  Precipitation, Humidity, Evaporation
and Wind

{3)  Evaporation, Condensation, Precipitation
and Run-off

(4)  Ewaporation, Precipitation, Wind and
Temperature

144. What will be the local time at 80° E when the
local time at 20° E is 10 : 00 am ?
(1), 11:30am 2} 1:30pm
(3 2:00pm (49) 2:30pm
145. Horsts and Graben are built by which one of
the following processes ?
(1) Folding (2) Faulting
(3) Volcanism (4) Glaciation
146. Which one of the following agencies runs the
Public Health Care System ?
(1)  Private Medical Institutions
(2)  Governmental Agencies
(3)  Non-Governmental Organisations
(4} Medical Practitioners
147. The Secretary of the Gram Sabha is elected/
appointed by :
(1) Members of Gram Sabha
2)  Village-ward members
(3} Members of Gram Panchayat
(1) Government appointee
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143. ‘Iﬁﬁﬁmwﬂ?mﬁmmwﬁm

144.

146.

146.

147.

frefafas o & 998 91 shsfom wm e
() T, e, TEe S e

@ =, s, ATt AR T
(3),~ ATeHERT, HET, U0 HR FAae
(4) @i, aon, gae S A

T 20° Y&l 29 9 TG HHA GAE & 10 : 00
a9 &, a9 80° YAl SYR F T §HA A
#m ?

(1)
(3)

(2) 1:309.0H.

)

11:30.UR.

2 - 00 91.UH. 92 . 30 91.um.

frefafas vl § 3 22 2 199 T899+ 2m
T A 8 7

(1)
(3)

AT
sEregEt fwa

qYH
et

(2).-
(4)

| TEne) 4491 9= frefafes § 8 £
Tt = & 2

(1) Fit fafesm dram

(2) ~ HEEF TSl

@) R e

(4) =Earh s

e

%2 % S g e g
(1) =M\ [ F w2 7

(@)  7m IR % " gry

@)  HR I fef

«
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148. According to Census of India 2011, which one

148. zullﬁmﬁaﬁﬂﬁqﬁwﬁﬁﬁ#ﬂ—aﬁwﬁ

of the following sex ratios is correct for India ? i 9y & e a9 £l g2
(1) 910 Females per 1000 Males 1), 910 ot wfd 1000 9&9
(20 920 Females per 1000 Males @ 920 forai 9fa 1000 ey
(3) 940 Females per 1000 Males 3 940 forat ufa 1000 5y

4) 980 Females per 1000 Males ).
o T ; 4) 980 fexar ufd 1000 789

149. Which one of the following Governmental
Institutions has authority to introduce new

149. ool 3R FAFHR F oE 75 TSl A T

train between Delhi and Kanyakumari ? % foi frefafes weit geE 9 s g™
(1)  Local government SAHT Bl & 2
(2)  State government (1) ¥ §EHR
(3)  Central government (2) TIHFR
(4)  Non-governmental organisation 3), H=TER
@)  TR-EE e

[ 50. The farmers cultivating small plots of land using
simple tools and more labour in the plains are 150
categorized under which one of the following :

Bl @UE W HHR IUHTON g1 afrh g &

types of farming ? mﬂﬂaﬁfﬁ@?ﬁmﬁmﬁmaﬁﬁqﬁaﬁm
(1) Primitive subsistence agriculture FNF ¥R A A o Fitepa fearam ey 22
(2)  Intensive subsistence agriculture (D enfeH Shfae Fa
(3) Commercial farming @) e Sifas FHfy
(4)  Shifting cultivation @) =i Hy
@) R @

-00o0-
-00o0-




